
University of California Berkeley CEE 122: Design of Steel Structures
Department of Civil and Environmental Engineering Fall 2008

Midterm 1:
Tension and Compression Members

10/14/08, 502 Davis Hall, 2 hours

Name

Problem Points Maximum
1 25
2 25
3 25
4 25

total 100

Honor Pledge:

I have neither give nor received aid during this examination, nor have I concealed any
violation of the Honor Code.



Problem 1: (25%)

Determine the governing effective area (Ae = UAn) for the C12x30 channel shown (not the gusset
plate). Standard holes are made for 1-inch diameter bolts by punching. Compute the appropriate
shear lag factor and include it in your calculation. Do not consider block shear.
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Problem 2: (25%)

A W24x76 A992 tension member is connected at it two ends to gusset plates as shown. Standard
holes are made for 7/8-inch diameter bolts by punching. Compute the design strength φRn of this
member taking into account yielding, ultimate tension, and block shear limit states at both ends
of the member. To compute the shear lag factor assume the following: on the left end, gusset plates
are connected to the top and the bottom flange; on the right end, two gusset plates are connected
on either side of the web (as shown in Figure C-D3.1 in the commentary of the AISC Manual).
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Problem 3: (25%)

An 15-foot tall W14x??? A992 steel column is a part of a frame structure. It carries a factored
load of Pu = 2008 kips. Buckling in the plane of the frame occurs about strong axis, while buckling
out-of-plane occurs about the weak axis. The effective length factor Ky for the weak axis is equal
to 1.0.

1. Select a W-section for this column, assuming that the frame is not braced (sway may happen).
The effective length factor Kx for the strong axis is equal to 1.9.

2. Select a W-section for this column, assuming that the frame is braced (sway can not happen).
The effective length factor Kx for the strong axis is equal to 0.76.

Problem 4: (25%)

Effective lengths of the column are: (KL)x = 30 feet and (KL)y = 22 feet.

1. Determine the design strength (φPn) of the built-up A992 steel column whose section is shown
below using the AISC LRFD provisions. Check if the section is compact.

2. Determine the AISC LRFD design strength of the A992 W14x730 column section. Is this
cross section is compact?

3. Compare the results. The sections have roughly the same area: why is one stronger than the
other?

Reminder: properties of a built up cross-section can be computed using the parallel axis theorem:

A =
∑

Aplates

Ix = Iplates,x +
∑

Aplates,xd
2
plates,x

Iy = Iplates,y +
∑

Aplates,yd
2
plates,y

where dplates is the distance from the centroid of the plate area to the centroid of the cross section.
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